9—10x+ 11x? - 12x* ¢+

AHCY‘ﬂéhnj 11

N = NnN=oO
2. Find the sum. 4

A+ 'l"“' t\‘-{ 7\‘4 ;"l‘"
F=5x%+0x® 135124 4 21120 219,13 TN-3 @1 %0 By 134 4n n-Y
2 n- 4n-Y
é ) (#n-2) x
4. The first term of the arithmetic sequence a is 4 and common difference d is 6. Find the nth term and the 10th
term

6. Find the 60th term of the arithmetic sequence

262.299,336,373, . N = 202 ¥3.3(n-1) Ao = 202+ 33((’0.‘0
t3. % *3'? #3.?

l 244 .S }
7. Find the nth term of the arithmetic sequence. B
2’2+S92+2S,2+3S, qn - 2 ‘*" S(n"“)
vV ¥ \4

1S ts  +g

C— A

8. Find the 18th term of the arithmetic sequence.

—t,-—l+3,-—-t+6,\-/—t+9... Ap = "“JC *3“"\) — TN
v \'4
"> +3  +3 a,g = -t 13('8") :["{3 *'6)J

———



9. Which term of the arithmetic sequence 3. 8, 13,... is 739

Q:EB _ +Ex..f) ¢%¥?
az 6 An =3 N 13 =24 5(\0 ‘)
2'3S 3tHn -5
10. A partial ] 6VL = | &

sum of an arithmetic sequence is given. Find the sum. ( - ‘ 6

3+7+11+..+39

A=Y 39 = 31"4(“”\) Sﬂ: r\(a*ﬁ“ = ‘D(a?)z@ 5

. 3= 3tUn-Y
a=3 40 = Hn
N=10

1l. Determine whether the sequence

6, 24, 96, 384...
X xy x4y

Is geometric. If it is geometric, find the common ratio.
\t GS ) ' = Lt

2. Determine the common ratio, the 6th term. and the nth term of the geometric sequence.
( Nn-\
4, 12, 36, 108, ...

Fx:3 M= Lt(a)" | {‘WZ\

13. Detennme the nth term of the geometric sequence.

_ n-\
3 3 A ” ‘é" An = X (.2.(..)
. S ) .

w2, £,
5 7257125 o= X
14. Which term of the geometric sequence 5, 20, 80, . . . is 204807 U:‘ n_,‘
A= “ oug0=5()" =7 |
r=4 | qoap =ynt  j 77
15. Find the sum. g€0™@IV\( v = qnﬂ
= | +4+ 16+ ... + 4096 (|.-r" -4 )
-\ :C‘ . \(,#5-;) ﬁ}
(=4 409y = 1{4)" Sn \'V) -4 {iqtﬂ\

n=7

16. Find the sum of the infinite geometric series.

1 1 1 Since W\A\ $€vies oonv-evc}pj

1+§+@;+?§+” ‘QL ) —L—’
A= ' &: |-y ...é
17. Use the Binomial Theorem to expand the expression (3 - x) e A ...\
4 14 4 bd ¥/
(3)3%(x)°+ (5)3 () + $)23(0)%+ ()3 (XY r (G JEIS lw,
¢ c
2q3+508l(-x)+|o .27 x% +—t0qfx’7)+5 3 (x) T 1L

713~ 409X +270x> - 40

X2 F16x T x>



18. Find the first three terms in the expansion of (x+ 297 . . . . .
| L1
(“9’9(’52‘5@\1 )"+ Q\S> X)"(29)"+ ( ?) (x)2(2y) 320 2 %
X

\5%”*2\, 0S x'ga‘f\(z

13,2
. X'*+30x"y £ 420Xy
19.  Find the middle term in the expansion of (x‘ + l)m.

2\ ey Ly 2 &

a2, s kA B

m 0 /A 2 — O WK FH I HBAB 2
$O k=10 134 ISL x , 1B 4TS

- o 3
L& oAaA-4 3

20. Find the term containing }: in the expansion of (x + 2y)m. — -

R 3 N

0
(R = 200y 13360xy"|
{44 S———

21. Find the sum.

izx-za@ Qof 2‘*21+23+24

22. The 12th term of an arithmetic sequence is 34, and the fifth term is 20. Find the 20th term.
50 2734 20, 20=4,+2(s) Az (2+2(10)
o= as =20 97 12-9 I2=a,

23. The first term of an arithmetic sequence is 3, and the common difference is 2. Is 5,981 a term of this

sequence? If so, which term is it? &, 8 | 8 3,‘ 2(N -‘)

a=Z (2440=n) yes (v needed o e an
. . . it {{ﬂf’%ef)
24. A partial sum of an acithmetic sequence is given. Find the sum.
+.3 4.3 4.3 -0.%=-30 +0.2(n-\)
~30-29.7-294-"..-03 243z 0.3n-0.% ¢ g \OO(’%O* (-0.2)
100 - =

s= 19|19 N=100

25. A partial sum of an arithmetic sequence is given. Find the sum.
=7\ ( \ [—\’2@\)

. (st ¥evm {-F{0)> | )
Z(l—”in) v 4

= astyerm |-120) = 129

| n=120
@‘ 2\ feymS thvial

— 7 and fourth term @, = 22. How many terms of this sequence

2

26. An arithmetic sequence has first term a,

must be added to get 3,402? 4= 227"(3 =5 3402= %(uﬂs—‘j(nq-))

- 2 ) 2 (3%02 © 2 (Y r$n-s))

oB04 = N +ADN
nN=20




27. Determine whether the sequence is seometric. If it is geometric. find the common ratio,-

- L - bq
1.0, 1.3, 1.69, 2.197, ... R Tl T 'l 5 ‘/( = |
N€S§

28.  Which term of the geometric sequence 2, 4, 8, ... is 4.0962

(/)/ - a=2 _ n-l
er ay = 2(2)
V:Q. Ligogjp%.:ay\"’ n—: \%

2 W o n—)
29. The second and the fifth terms ot a geometric sequen 4 ! d232
’ e Ce a " » - v
sequence? If so, which term is it? q re 4 an respectively. Is 512 a term of this

a = 4 . o=
’)' = 31, (=71 25(0"2-2(n"| (n:q

30. Pmd the sum of the infinite geometric series. 23 ?,ﬂv‘
- A
4 2,4, 4 > o 4 "’”"
37977t = 4 -3 "
3

31. Find the sum.

2 3 'tz
1 \2%? S
1 X
32. Write the sum using sigma notation. (0
4+8+ 12+ 16+ 20+ 24 + 28+ 32+ 36+ 40 % 4N+ H oY é “‘ V)

33. Determine whether the sequence is arithmetic. If it is arithmetic, find the common difference.

. 1. 15, 23; . NO

+ +2 HO

34. Find the sum. A - \("-;)n-\ f - \ (‘" " )“ : (£ :.7) \
o . oM R \ 1-(2) \ )
l— =+ ==+ ... +- -\ ‘o—(”) z -
24 8 1,024 (;) -\ 2 T
A= r‘.‘-’ -'% - |‘

35. Find the sum of the infinite geometric series.

1 1 1 S: = e= 3
l+c+-s+55+ .. _1 -1 =
3 ‘9 27 ] 3 7
(=3
2
36. Find the sum of the infinite geometric series.
L
IS L
749 " 343 =



